BEILFORRD - #BRE (1)
= N # 8 % - # -y ® E 3 x
F a SM7E| S E BiR SM7 E| S FE BiE SM7E|SM6E| #EHE
5AX | 5AX | ##% x 5AX | 5AX | ##% x 5AX | 5AX | &4
HOE OL BB 3,217 3,184 33 1.0 1,110 1,533 -423 -27.6 345 48.1 -13.6
& A & 596 500 96 19.2 90 297 -207 -69.7 15.1 59.4 -443
% & B 210 163 47 28.8 22 61 -39 -63.9 10.5 37.4 -26.9
2 A # 46 66 -20 -30.3 3 33 -30 -90.9 6.5 50.0 -435
=] % = 3 1 2 200.0 1 -1/ -100.0 0.0 100.0| -100.0
AT MIBUY
® E B Y 18 19 -1 -5.3 2 5 -3 -60.0 1.1 26.3 -15.2
w OfE F® L 1 -2 -66.7 0.0 0.0 0.0
AR 1 1 — 17 17 —| 11,7000 —
¥ B ® L 1 4 -3 -75.0 0.0 0.0 0.0
m B & L 1 -1| -100.0 26 -26| -100.0 2,600.0 —
# oM BT L 10 10 — 0.0 —
EN N 47 23 24 104.3 1 8 -7 -87.5 2.1 34.8 -32.7
HOE W L 58 56 2 36 3 21 -18 -85.7 5.2 375 -32.3
I % & L 6 2 4 200.0 1 1 0 0.0 16.7 50.0 -33.3
B K E R L 3 1 2 200.0 0.0 0.0 0.0
2 E ® L 32 47 -15 -31.9 18 25 -7 -28.0 56.3 53.2 3.1
z [2) fth 160 114 46 40.4 23 116 -93 -80.2 14.4 101.8 -87.4
£ Y B B 749 768 -19 -25 40 82 -42 -51.2 5.3 10.7 -5.4
B & B & 67 41 26 63.4 12 26 -14 -53.8 17.9 63.4 -455
el AN O 56 35 21 60.0 2 3 -1 -33.3 3.6 8.6 -5.0
B & B &K 626 692 -66 -9.5 26 53 -27 -50.9 42 7.7 -35
¥ £ A B 1,872 1,916 -44 -2.3 980 1,154 -174 -15.1 52.4 60.2 -7.8
B 7] & 2 1 1 100.0 3 7 -4 -57.1 150.0 7000, -550.0
h H & 29 16 13 81.3 29 18 11 61.1 100.0 112.5 -12.5
ATMBLLWL
EE R 5 W
B E b W 4 2 2 100.0 2 2 — 50.0 0.0 50.0
O - = <Y 1 1 0 0.0 4 4 — 400.0 0.0 400.0
El Y 8 7 1 14.3 2 1 1 100.0 25.0 14.3 10.7
[ 5l = 18 33 -15 -45.5 8 10 -2 -20.0 44.4 30.3 141
REZEHR DLW 5 1 4 400.0 1 -1|  -100.0 0.0 1000/ -100.0
B E A SN 153 211 -58 -275 39 60 -21 -35.0 255 28.4 -2.9
B oMt 5 79 99 -20 -20.2 6 28 -22 -78.6 76 28.3 -20.7
&R BZA S 12 14 -2 -14.3 3 3 0 0.0 25.0 21.4 36
BR#HRLS W 10 1 9 900.0 1 27 -26 -96.3 10.0| 2,700.0| -2,690.0
=N 26 52 -26 -50.0 14 29 -15 -51.7 53.8 55.8 -2.0
IEHHL W 43 60 -17 -28.3 5 11 -6 -54.5 11.6 18.3 -6.7
B El E 699 629 70 1.1 598 498 100 20.1 85.6 79.2 6.4
B & A5 W 83 57 26 456 51 18 33 183.3 61.4 31.6 29.8
BB 5 L 4 1 3 300.0 5 -5/ -100.0 0.0 500.0, -500.0
Z ) it 696 731 -35 -4.8 215 438 -223 -50.9 30.9 59.9 -29.0
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® Z A 8 3 N i &
F a SM7F | FM6E iR SM7FE | FM6E iR SM7E|FH6E iR
5AX | 5AX | AB = 5AX | 5AX | A8 E 5A%X | 5AX | A& x
T 567 635 -68 -10.7 489 532 -43 -8.1 78 103 -25 -24.3
A & 37 44 -7 -15.9 30 4 -11 -26.8 7 3 4 1333
% E B 13 10 3 30.0 10 9 1 1.1 3 1 2 200.0
2 A # 1 3 -2 -66.7 1 3 -2 -66.7
=] % = 1 -1|  -100.0 1 -1|  -100.0
AT MIBUY
® E B Y 1 1 0 0.0 1 1 0 0.0
w OfE F® L
AR 1 1 — 1 1 —
¥ KR ®m L 1 -1|  -100.0 1 -1|  -100.0
m B & L
#% M P W L
EBEmREL 4 -4|  -100.0 4 -4|  -100.0
HOE W L 1 5 -4 -80.0 1 4 -3 -75.0 1 -1|  -100.0
I % & L 1 -1|  -100.0 1 -1|  -100.0
B K E R L
2 E ® L 8 8 0 0.0 8 8 0 0.0
z [2) fth 12 10 2 20.0 8 10 -2 -20.0 4 4 —
Yy ¥ B 18 34 -16 -47.1 11 19 -8 -42.1 7 15 -8 -53.3
B & B & 5 10 -5 -50.0 5 10 -5 -50.0
el AN O 2 1 1 100.0 2 1 1 100.0
B & B &K 11 23 -12 -52.2 6 9 -3 -333 5 14 -9 -64.3
B2 A B 512 557 -45 -8.1 448 472 -24 -5.1 64 85 -21 -24.7
B 7] & 3 1 2 200.0 2 1 1 100.0 1 1 —
#h H & 1 1 0 0.0 1 1 0 0.0
ATMBLLWL
EE R 5 W
"RE R 5 W
O - = <Y 1 1 — 1 1 —
k3 Y 3 3 — 3 3 —
[ 5l = 6 6 0 0.0 6 4 2 50.0 2 -2/  -100.0
REZEHR DLW 1 -1|  -100.0 1 -1|  -100.0
B E R BV 3 7 -4 -57.1 3 4 -1 -25.0 3 -3|  -100.0
B oMt 5 4 4 — 3 3 — 1 1 —
&R BZA S 2 2 — 2 2 —
BR#HRLS W 3 3 — 3 3 —
=N 3 3 0 0.0 3 2 1 50.0 1 -1|  -100.0
IEHHL W 2 2 0 0.0 2 2 0 0.0
B El E 346 388 -42 -10.8 292 320 -28 -8.8 54 68 -14 -20.6
B & Ao 21 13 8 61.5 18 8 10 125.0 3 5 -2 -40.0
BB 5 L 3 -3|  -100.0 3 -3|  -100.0
Z ) it 114 132 -18 -13.6 112 126 -14 -11.1 2 6 -4 -66.7




